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SM2 10.5 - Triangle Proportionality and Midsegments
Complete the proportion using the figure to the right.
| PO_PR , 1 _S0
"0s 2 ‘TP SP
3. PO_ 7 4 IR_SQ
" PS PT 2 oP
ZP=LP
2 PR 22 PsT  (alk wtevior angles)
by AAw
APQR ~APST
S
Side PQ correspindsh B,
side QR o:rresponds o ST.
gide PR corresponds to PT.
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Find the missing length. Show vour work!
5. 2 6.
r 8
3 ?
3.2
2 3
Selve for ?
7.
10
8
12 f
3 . '
o - 2

(S
LA
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35
b P g

21-b =15
IS goes with ?

¢ 91-lb
35 = 2\

L
35 = 2
Solve 'Fbr?
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Solve for x. Show vour work!
11. 10 12. 21 x+3

you need enkire leHt sde lLeaghh.
Y+lb=20

e | Ax for X
20 = 3 Sole
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Given each diagram, determine whether AB Il CD. Show work to support your answer!

14. 9 4 15. 15 B 21 D
A B 9
36 16 A
c D 12
?
a ¢4 2 \s
ms g =T - DDGS T—i -7

£ tha eross Prodvd-s are 3 n yes wrile ﬁnlpl.

'H\A.V\ KB “ CD- ¥ no wv ke not gﬁfﬂ\&l
Does & (1) 23b()O”

|¢ yes Say pqmlle(.

Find the missing length indicated. - )
16. Find XZ Z 17. Find QS s SQ 2 3
S@=
F M

11 8

G 1 Y R T Q

18. Find AB P 19. Find MN H
24 M
A 4
R=H—pH—, A
sinee MNis the
rmid seqgment of

A INT
MN=z(TH)
MN = 3 (4)
MN =

March 31, 2020
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Solve for x. Show vour work!
20. C 21.

2x -6

l x+12 X
D
2 (2%-b) = X+ 12
Solve for X.

The sides of ADEF are all midsegments of A4BC. Find each of the requested lengths.
C

22. BD= DA= EF = T
= = = 60
CE EB FD . e ;
CF = FA= DE =
- B A
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